Rk )

NOx

AR Heik . peve A —
Jist | I 3/ B ] Vi AR/ PR A %vﬂ\u% %ﬁﬁ% pfE | 2T Sl | ATEE | bR Pror | btk | 25 Tk 0, WE | WE NSO B
x ‘ me/Ni | me/N® | B | #EAE /N | me/Ne | B |k : e n/s ) C o | TS| PR
{EA A1 0 | Huk IlimRIs a1 5.23 | 7.86 | 10 | 1% 5.12 | 7.68 | 35 | 1% mg/Non” | FRA | bR 5
72 o | 1 [ e e 1] 4.95 | 7.54 | 10 | & 217 1635 | 35 | & 18.85 L 50 L & 9.89 [11.01 148.64 | 8.70 | sk | JUX
1r2k 4 |2 |apr [l R pbE O] 5.05 | 7.38 | 10 | 7 757 Titao a5 T = 19.50 1 50 1 7 9.89 [11.16 {48.58 | 8.58 | Mk | JUT
2 4 |3 [l el e ] 5.66 | 8.77_| 10 | & 204 Ts20 |35 | & 2114 | 50 | & 10.44 110.73 148.98 18.48 | J#k | A%
2 4 |4 [l el e ] 5.97 | 9.17 | 10 | & 590 15907 [ 35 | & 25.00 { 50 | & 10.52 |11.32 148.78 | 8.17 | J#k | A%
2 4| 5 Al el ] 6.16 | 9.17 | 10 | & 624 To26 [ 35 | & 22.72 { 50 | & 10.30 |11.23 149.03 | 8.62 | J# | A%
2 4| 6 |Gl el e ] 5.80 | 8.95 | 10 | & a5z 16907 | 35 | & 20.59 | 50 | & 10.24 110.92 148.98 |8.77 | J#k | A%
2 4 |7 [l el e ] 5.81 | 9.18 | 10 | & 231 1680 | 35 | & 2L.74 | 50 | & 10.05 |11.30 148.35 | 8.40 | J#k | A%
2 4| 8 |Gl el s 1] 5.48 | 8.65 | 10 | & 502 1619 | 35 | & 22.26 | 50 | & 10.01 |11.51 148.18 | 8.42 | J#k | /%
2 4|9 [l el e ] 4.95 | 8.23 | 10 | & 220 1695 [ 35 | & 22.55 | 50 | & 10.06 |11.50 ]48.00 | 8.16 | J#k | A'%
2 4 |10 Gl el ] 5.04 | 8.33 | 10 | & a53 740 | 35 | & 27.65 | 50 | & 9.74 |11.95 [47.88 | 8.27 | W4k | K%
2 4 | 1L Gl el B ] 5.36 | 8.76 | 10 | & a6s 758 | 35 | & 23.86 | 50 | & 9.69 |11.92 [48.29 |8.22 | W4k | K
2 4 |12 [l e ] 4.65 | 7.41 | 10 | & 240 1301 [ 35 | & 22.14 1 50 | & 9.57 |11.82 [48.25 | 8.41 | W4k | K%
2 4 | 13 Gl el ] 5.19 | 7.80 | 10 | & 500 1751 [ 35 | & 2177 | 50 | & 9.52 |11.57 [47.92 | 8.11 | W&k | K%
1E2k 4 114 Byl sl B E H | 5. 40 8. 26 10 | % 6.83 [10.50 | 35 = AN EE T 209 L1LOL 48, 7> L8 o7 5 PNt
1E2k 4 115 | Bl i ES s L | 5. 04 8. 02 10 | % 9.79 [15.61 | 35 = R mE TR 297 1119 145,98 L8 02 5 PNt
1E2k 4 116 | Bl sl s pE H O 5. 27 8. 35 10 | % 744 [11.80 | 35 = TR 10.64 {1159 119,10 1 5.08 5 PNt
1E2k 4 117 e iR B s | 5. 12 7.61 10 | % 9.68 [14.37 | 35 = TR 10.9% {1 o4 119,10 1 5. o8 5 PNt
1E2k 4 118 Bl s B pE H | 5. 33 7.73 10 | % 11,03 [15.92 | 35 = PRI R 10.20 110.9) 14900 1 5.7 5 PNt
1E2k 4 119 | Bl [ lihi B pE H 1| 4. 86 7.44 10 | % 1154 [17.62 | 35 = b 10.43 11006 119,82 1 5.8 5 PNt
1E2k 4120 | Bl [ Bihi ES0E H | 4. 62 7.36 10 | % 10.35 |16.50 | 35 = TR 10. 44 {11.20 119,09 1 5.86 5 PNt
1E2k 4 |21 | Bl iR B E H | 5. 56 8. 61 10 | % 10.97 [17.00 | 35 = IR E e 19.95 {1159 149, 4 1 5. 78 5 PNt
1E2k 4 |22 | Bl B ESRIE 1| 5. 91 9.27 10 | % 12.33 [19.32 | 35 = L0 10.20 L1132 149,00 1 5. 77 5 PNt
1E2k 4 123 | Bl [l B pE H | 5. 93 9. 46 10 | % 1142 [18.24 | 35 = TR 10.48 L1143 119,00 1 5.87 5 PNt
1E2k 41 0 | Bl |28 iR ESpE H | 6. 23 8. 68 10 | % 10.81 [15.00 | 35 = T TR 10.04 {1161 1.1z 1 5.51 5 PNt
12k 4| 1 [Hlr | os i mi e HIE H ] 5.86 | 8. 19 10 | 75 8.79 |12.08 | 35 & TR EmTom Eviera BT S i A
12k 4| 2 [#hr | os st piE ] 4.08 | 5.66 [ 10 | 13.73 |18.82 | 35 & TR T Er T T i A
2 4|3 |Gl [2elm B ] 4.48 | 6.09 | 10 | & 553 1765 | 35 | & 59.95 | 50 | & 11.88 110.17 149.77 | 7.81 | 38 | A%
1tk 4 |4 [Eh [eelim s iE 0| 4.66 | 6.32 | 10 | @ 110 556 | 35 | & 510 1 o0 L 1 11.54 19.95 149.34 1 7.33 | MH 1 T
12k 4| 5 [fnlr |28l mi e HIE H ] 4.95 | 6.78 10 | 75 7.86_|10.73 | 35 & .02 S0 R e e S i A
2 4| 6 [ Gal [2alim Bt ] 5.44 | 8.23 | 10 | & +61 1695 [ 35 | & 54.15 | 50 | & 11.87 |10.04 ]49.64 18.08 | J#k | A%
1tk 4 [ 7 [ Hh [2e e ] 5.66 | 952 | 10 | @ 235 (300 | 35 | & 215 190 L1 10.51 111,09 149.15 1 7.97 | MF 1 %
1tk 4|8 [Hb [eelim s iE ] 5.40 [ 912 | 10 | @ 55 (578 | 35 | & SLOT 1 a0 L1 9.85 112,06 147.21 1 7.19 | MFk 1 VT
2 4|9 |Gl [2alim Bt ] 4.81 | 8.43 | 10 | & 508 1698 | 35 | & 52.57 | 50 | & 9.80 |12.11 [46.23 | 6.48 | W4k | K%
1tk 4 [0 Bk [2elmE e 0] 3,91 | 639 | 10 | @ 162 (750 | 35 | & 124 a0 L 9.77 112.44 146,44 16.68 | Ak 1 T
1tk 4 [ [ el e | 440 | 700 | 10 | @& 502 (800 | 35 | & 816 1 50 L 1 9.59 111.82 146.73 16.64 | Mok 1 T
1E%k 4 12| Bl |28 bR B 0E H 1| 4. 89 7.59 10 | % 6.91 [10.79 | 35 = AR 2. 701109 147,96 L 7.08 5 PNt
12k 4 | 13|l |28l pi B IE H ] 5.75 | 8.79 10 | 75 7.82_[12.01 | 35 & RTR R T B S T i A
1tk 4 1Al Bh [2e e | 583 | 853 | 10 | @ 520 Ta771 | 35 | & .00 1 50 L 1 10.22 111,20 148.96 1 7.93 | MF 1 I
2 4 | 15 |Gl [2a e B L] 6.04 | 8.73 | 10 | & 570 1835 | 35 | & 50.04 | 50 | & 10.71 110.73 149.76 | 7.80 | J#k | A%
1tk 4 [ 16 [ Hah [2e e | 6.08 | 8.86 | 10 | @ 52 (760 | 35 | & L7310 L1 10.82 110.62 150.13 1 7.75 | MF 1 %
1tk 4 (07 [ b [2e e | 6.22 | 857 | 10 | @ 5 70 | 5 | & 015 1 50 L 1 10.75 110.7L 150.15 18.21 | MF 1 I
1R 4 | 18| k[ 28 B fm B HHIE H 1| 6. 33 8. 83 10 | 7/ 10.38 [14.54 | 35 = TR 1. 26 L1012 150.49 1 5. 47 5 PNt
12k 4 | 19|l |28l pi e IE H ] 5.94 | 8.27 10 | 75 10.72 |14.96 | 35 & B0 RN i T i A
12k 4 |20 [ E | 2s BRG] 5.08 | 6.86 | 10 | 9.38 |12.64 | 35 & B0 T Bl e S i A
1E%k 4 |21 | Bl |28 i ESE H 1| 5. 34 7.35 10 | % 9.74 [13.27 | 35 = TN TRELTRET 1211 1 9.90 1oL 15 1 9. 10 5 PNt
1tk 4 (22 [ Bk [2e e | 5.82 | 808 | 10 | @ 533 (88l | 35 | & Bo1 1 a0 L1 12.05 110.09 151.06 19.09 | 5 1 %
fE2k 4 | 23| k|28l mi e HIE H ] 5.79 | 8.01 10 | 75 9.70 |13.41 | 35 & 208 S IR R AT e i A
. . 5 28.91 | 50 | 1% 11.24 110.15 [50.27 | 8.76 U5 pNat




